WEo— K 28083 - K 28084
B =X FDTB-—7 -FDTB—7R

B EXORE. BTRXESEETEL,

- RRERRO—RRICIE, FEH -y MGEOADBREAHY FT,




&

GO TEXITDONT

REHmOMEBFERIC DT

L ¥#Rdh CTEXOBRE, TREE A & ZEE < 72
Y

0]
@
€)
@
®

XA, (BLEHRE) IEHAREERB L ORE
WS DR — A7 L— MZER L TN ET,

2. EEMOH- iz, UFozriRLT
BYET,
H-vane, marsncons @l
PSR 2 W K B D E .
V=7 vt BicE Eh D EE T, B
TR L 72\ b,

Z DR O EFAE & OHAEEERR (IR 13,
BEFIHUI VR IETT, L., BHGERN
ThHh-oTh, FEHHRBICONTIIMi 2D
RS TCWEELSHEE LD 5,

FHEES S DOEAS IR AR 13 EFR O BEHG R
THRT LETH, HeERKEEEZ TH-ThH,
RIS O TERE R D o IEAITER X UM
BIZOWTIHRSE W EE T,




FDTB-7-FDTB-7R

IL—LEl

No e EBim Hg % || No. R B Eh% g {E 5
1 | E2955-001 {7L—.Ls 1|[BT-1] E2010-018 [RJLF M12 X 45 (SW,N) 8
2 | E2055-011 |/ RDL—L 2 IIBT-2| E2010-104 |[7)L I M18 X 130 (SW.N) 1
3 | E2700-065 | v A HS5— 20A X 55 1|{[BT-3| E2010-033 [RJL} M14 x 50(P2) 2
4 | E2700-055 |k UL HEY, [EBERA4T 1
5 | E2700-061 |[#23EE Y 4mm 1
6 [ E2955-006 | R b/t 19 X 32 2
7 |E2700-032 |O0—ILE Y 13%x 35 2
8 | E2700-034 |[n—LEY 8x 35 2
-9 | E2802-020| R T4 2
10 | E2889-006 [AF')> 9%k [CAT1,CATI 1
11 | E2888-012 |2 v 2hH5— 2
12| E2625-101 | FE Y 10mm 2
13 | E2925-509 | R B 1
14 | E2888-010 /84T 10 x 60 1




FDTB-7-FDTB-TR
TA T

No.| @& e B {E%k || No. i M g 1B %
1 | E2955-002 |4 2TL—k 7 lIBT-1] E2010-029 |7R)L I M12 X 120 (SW,N) 21
2 | E2955-003 |14 2054 vk 7 ||BT-2] E2010-035 |/ )L+ M14 X 55(SW,N) 7
3 | E2955-004 |12 7 |BT-3| E2010-170 | & 2RI+ M12 x 55(SW,N) 7
4 | E2955-012 | FH%kA (FTLa) (D||BT-4| E2010-011 {MAJLF M10 X 70(SW,N) 7
5 | E2955-014|H%B (FTLav) (D||BT-5| E2010-010 |MAJL I M10 % 50 (SW,N) 7
6 | E2955-034 |F4:C 7
7 | E2955-017|F%ED (T av) (7)

(07,0607 H)




FDTB-7-FDTB-7R
—RAJLEEH

e

SN AL T =L

VOVVTVLOTO f)/ i f\»

!

No.| &% MR g {E% || No. mE e g B

1 | E2955-009 |[7RILA — L 1 [IBT-1| E2010-018 |~ M12 X 45(SW.N) 4
E2955-023 |7k JL& — R 1

2 | E2890-003 | RF— 19 X 65 2

3 | E2010-030 |/S—4 Yy T A LR [M12 X 40 (W) 2

4 | E2700-068 |/ \TS v Tk M24P3, M22P2.5 2

5 | E2955~-008 |41V (=41 JLf) |16 % 650-8 2

6 | E2955-024 | ¥y 2

7 |E2955-025|tzyhEY 16 X 65 2

8 | E2625-100 | FE 6mm 2




FDTB-7R
hdo—5—Fifl

No.| &mE e i {EE || No. S e R B4
1 | E2055-026 |7 —LT 54wk 2 ||BT-1| E2010-173 |k M16 X 90 (SW) 4
2 | E2955-027 |A—5—7—L 2 [IBT-2]| E2010-056 | )L+ M16 x 50 (SW,PW,N) 4
3 | E2955-028 |7 —LTL—hk 2 ||BT-3| E2010-068 [ JL+ M16 x 70 (SW,N) 2
4 | E2955-029 |[O0—5—TL—Ls 1||BT-4] E2010-190 | LI M16 X% 110(SW,N) 2
5 |E2925-519|R7U> 5 FL205 2
6 |E2955-111|Had0—5— 1
7 | E2700-054 |a—)LE Y 6X35 2
8 | E2055-025 [twkEY 16 X 65 2
9 | E2625-100{)FE> 6mm 2




FDTB-7 - FDTB-TR
&R bR —EHR

No.| H&E B g B {| No. eSS EHad FRAE [EE:
1 | E2955-033 | R &R RILE—-FDTB 1 IBT-1| E2010-018 | )L (8.8) M12 x 45P1.5(SW,N) 4
: BT-2| E2010-170 |R£HRILM4.8) [M12x55P1.75(SW,N) 5

(07,03,12;:850)




FDTB-7, FDTB-TR
— R4 ILEHH

g

No.| & BB piiics {EZk || No. i e pSTuis {E 51

1 | E2955-009 |AILE — L 1|[BT-1]E2010-018 |RJL}(8.8) M12 % 45P1.5(SW,N) 2
E2955-023 R 1

2 | E2890-003 | R F— 19X 65 2

3 | E2010-030 |/ \—5")w AL [M12 X 40 (W) 2

4 | E2955-036 |/\T v Tk M24P3,M14P1.5 2

5 | E2955-037 [+ 2

6 | E2955-038 |[/R—JLAF1) 4 |6205LLU 4

7 | E2955-039 | 21 (7R1JL1}) |16 % 6.50-8~4PR 2

8 | E2955-040|h5— 2

9 [ E2955-041 | 2

10 | E2955-025 [t2v kY 16 X 65 2

11| E2625-100 ) FEY 6mm 2

(07,03,12:840)













Tl
b=

S—0703128B

23 #t
FTHREXEM
BINE X
EEEXM
IR EER
#%%ﬁ%ﬁ
EHEEXmM
BMEEHM
fih& E XM
MlLE X
BEEEEMR
W E XA
REEXM

W EEm

066-8555

066-8555

070-8004

098-4100

080-2462

086-1152

028-3172

020-0173

983-0013

323-0158

480-0102

700-0973

862-8039

885-1202

FEmLERE106 1FM2

TEL 0123~-26—1123

FAX 0123—26—2412
FEHLEHL106 15MH2

TEL 0123—-22—-5131

FAX 0123—26—20835
BHNTHTHE4L£9THIEIGE

TEL 0166—61—6131

FAX\ 0166—62—8985

XEHEERMFELYORY 119 184 4

TEL 0162—82—-1932

FAX\ 0162—82—1696
WLATHAE2 2&L1 TE 12814

TEL 0155—37—3080

FAX 0155—37—5187
EEPIZEATILET2 TH 1682

TEL 0153—72—2624

FAX 0153—73—2540

EFREETMARAEEHLFMSE 1 1131 2053
TEL 0198—46—1311
FAX 0198—45—-5999
BFREFHERMNERFEEER552—3
TEL 019—694—-1661
FA\ 019—-694—1662
ERERUETERTEXPEFMHEA 17 9—1
TEL 022—-388—8673
FA\ 022—388—8735
WRENMUTFR2512—1

TEL 0285—49—1500

FAX 0285—49—1560
BHNEAPIBKENAKFSHFEHEH19 1

TEL 0587—93—6888

FAX 0587—93—5416
MIILERUTTHEHE704—-103

TEL 086—243—1147

FAX 086—243—12609

RARBRATRER1TE2E15
TEL 096—381-7222
FAX 096—384—-3525
ERREBHEH WA 1003 -2
TEL 0986—53—
FAX 0986—53—

D.19.03.1S ®



